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(1)Select the correct water image of Figure (X).

(1) R (X)&F T& i sfafeFs Fr g9 FT

Fig. (X)

(&)

A v B C "D

(2)What's the time in the clock.

(2) Y FIT WHI GIT 1|

12',

A.11:05 ¢ B.12:00

C.11:00 D.9:05

(3) What's the time in the clock.

A. 08:45 B.07:08

C.08:18 D.08:08 v



(4)Choose the alternative which is closely resembles the water-image of the given combination.
(4) 38 RaFeT & 9aa F o R 7T FAe T STo-Afafes & TA gl

A1M3b

(1) VIW3P  (2) VIINZP

(3) VINIP (a) YINEP

Al B.2

C3 D.4

(5)Find the missing number.
(5)dIed HEAT AT foT|

1,2,2,4,8,?
A7 B.15
C.32 D.4

(6)Find the missing number,
(6)dIcaT HEAT AT HIoTC|

A1,B2,C3,?
A.D4 B.C2
C.B3 D.A4

(7)Find the missing number.
(7)eT HET A A

Aa,Dd,Gg,?
A.Co B.Kk
C.Jj - D.Zz

(8) Which of the following diagrams indicates the best relation between India, Haryana and World ?
(8) w=ifaf@a & & =i a1 3m@india, Haryana 3R World & &I §a8 3= &Y HI T 72

O ¥ © 0

B




icket ?
(9) Which of the following diagrams indicates the best relation between Hockey, Football and Cr

(9) Pr=faf@d & ¥ @l W1 3@ Hockey, Football 3T Cricket ¥ &7 QIS Ay g2lidr 87

0 ©
(5 o oo
A B c D

(19)Which of the following diagrams indicates the best relation between Paper, Stationery and Ink ?
(10) Fefaf@a & & Sl @ 3@ Paper, Stationery 31K Ink 3 & Tl 37 FaY Y G &7

° © ©

A B C

(1Which of the following diagrams indicates the best relation between Gold, Metal and Zinc ?

(11) Feafa@d & ¥ S a1 3INWGold, Metal 3R Zinc ¥ I geq Y TEU & gfdr 87

3 ¥ ©

c D
(12) Identify the figure that completes the pattern X.

(12) 3 3Mpfa &1 Tgaret H S dead X F T A el

ﬂl'

(D)

==

X) (A) (8)

(13)Which of the following figures will complete the pattern in Figure (X)?
(13)F=faf@a & & @i a1 @7 Figure (X) & Yeof & QT FEM?

AN
: N\




(14)Which of the given options complete the second pair?

(14)RT 7T RFedt F § Fia 1 fAFeq g@d S F T FHAT &7

B
L B

(15)ldentify the relation between figures of the first pair and complete the second pair.

(15)0ga S F 3/ & T FEU A Tgae HR g@Ey s A QR

(it

Y 1
-y
O

ENE N

B D

(16)What should come in place of

(16) F TUA X FIT AT M8
Cow:Calf::Tiger: I TSS1.dTH:

A.Puppy / TeeTr B.lamb/#S &7 ST
C.Cub/q{lﬁﬂa?ﬁ

D.bunny/ @IFNLT T FTaT

(17)What should come in place of

(17) F TUE 9T FT AT AIfRT|
Tiger:Tigress::Lion:__ are; aIfeeT: QN
A.Lamb/#S T gar B.Cub/ IR[RITdH
C.Lioness/AT=T D.Mare/ €3Y



(18)What should come in place of

(18) & T W AT T A1fg Tl

Ornithologist:Bird::Archaeologist:

qefl e qal o gdeatae:
A.lsland/ &@rT B.Archaeology/ qXTcccd

C.Mediator / ALIEY D.Aquatic/ STl
(19) Find out the alternative figure which contains figure (X) as its part.

(19) TE AT IHfa AT Pfw S smr & srpfa (X) &l

X) () (B8) (©) (

e
frosmssnaes

[r

(20) Find out the alternative figure which contains figure (X) as its part.

(20)ﬁmm§%mﬁmmﬁmﬁm§ﬁ(m%l

o | B E

(X) (A) (8) (3)]

(21) Find out the alternative figure which contains figure (X) as its part.

(21)@Waﬁﬁmﬁﬁvmmﬁm§%(xw|

| el

(X) (A) (B) (©) (o)




(22) Choose the alternative which is closely resembles the mirror image of the given combination.

(22) 3@ RFeq F T S R 71w FaeE & ador ST & T ¢

EFFECTIVE
(1) 3VITO3333 (2) EVITCEFFE
(3) 39330TIV3 (4) 3VITO3F33
Al B.2
C3 D.4

(23)Which of the following options is the correct mirror image of Figure (X)?

(23)F=fafa & ¥ S @1 [eew RF (X) & 98 a9or siag?

4|

X1 IX XX

A B c )

(24) Choose the alternative which is closely resembles the mirror image of the given combination.
(24) 39 faweq & T S RU 9T HAIe &1 401 BfF & FAC T

BRISK |
(1) XSIA8 (2) A2IR8
(3) Kelnd (4) A2lA8

Al B.2
C.3 D.4

(25) Find the number of triangles in the given figure.

(25) & 7 A & Pest F dEr A ffSl

A.8 B.12

C.10 D.14



(26) Find the number of triangles in the given figure.

(26) & a1 InFhY F Fspeit B TwAw T A

A1l B.13

C.15 D.17

(27) Choose a figure which would most closely resemble the unfolded form of Figure (2).

(27) & W IER T, AT (2) F IEess w7 & qEd O A o &

X Y Z
oo o o 00 (o] [e)
Oo o o oo O (v
(1) (2} (3) (4)
Al B.2
c.3 D.4

(28) Choose a figure which would most closely resemble the unfolded form of Figure (Z).

(28) e XY IFR T, S A (2) F HERICSS T F FH T Aerew o g

X
) o °°
Oo, o Ooga g ooo
o © 00
(1) (2) (3) (1)
Al B.2
X D.4




(29)Find out from amongst the four alternatives as to how the pattern would appear when the transparent
sheet is folded at the dotted line.

(29) OR fawedt & & gar =t 5 s uredf Mo & AR Xar W Ay srar § ar Yeer Far s g

"“'ﬁ

ANl KK 4 [d

) 1 @ Q) « )
Al B.2

¢
*
.
L4
]

Mearsvnsen

C3 D.4

(30) Find out from amongst the four alternatives as to how the pattern would appear when the transparent
sheet is folded at the dotted line.. '

(30) UR fashedt & 4 gar Y & & IReR Mo F e Wr o3 Argr sirar § a Yeet SHar s &

.
3
-
1

"PQ‘ ‘enw

%

] a
. .
n .
. .
" .
L] L]
. .
M .
. ]
L] L]
K

feccoscmmaaut
L,

seaw

LE Y Y evwe weems

¥ @ @)

—
x
Lo
—
-
-~
—
N

Al B.2 -
C3 D.4

(31) Find out from amongst the four alternatives as to how the pattern would appear when the transparent
sheet is folded at the dotted line.

(1) Reet & war B i Gt e RAER YT 9T A e & o dest S R o

¢4 |<

(X) ON 2 3) (4)
Al B.2 14

.
»
+
*
#u
»
L]
"
.
L}
.
.
.
.
.,
4
2
L3
L
]

C3 D.4

(32) Complete the series

(32) s@ar # qU HX

10, 100,?
A.1000 V"~ - B.999
C.1010 | D‘,ibg



(33) Complete the series
(33) 4TS F G HY
8, 27, 64,7
A.102 B.99
C.125 D.100
(34) Complete the series
(34) @S F T F
aa, ccc, eeee,?
A.bb B.ddd

C.gegegg D.ffff

(35) Choose the word which is different from the rest.

(35) F s AT ST ATy F 3T § §
A.Crocodile B.Frog N
-3
C.Snake ' D.Hen
(36) Choose the word which is different from the rest. §
(36)agarﬁgﬁtra‘rmﬁw‘s‘l S
A.Rigveda B.Samveda Q?’b
C.Yajurveda D.Ayurveda

(37) Choose the word which is different from the rest.
(37) 9 U AT S AR A e
A.Helmet B.Veil

C.Turban D.Cap

(38) Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come next?
(38) 29 #@ar & &W: 7, 10, 8, 11, 9, 12, ... 3 g Dt W " I wiRe?

A.10 B13

C.11 D.6

10
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(39) Look at this series: 36, 34, 30, 28, 24,..... What number should come next?
(39) $H s[@ar F &W: 36, 34, 30, 28, 24,.... FHF AE T U FTAT HEN WRT?
A.20 B.22

C.23 D.26

(40) Look at this series: 2, 4, 6, 8,.... What number should come next?

(40) ST 4T H &W: 2, 4, 6, 8, ... 3AF g FleT W FEAT A WRY?

A.18 B.10

C.14 D.21

(41) Question has an underlined word followed by four answer choices. You will choose the word that is a
necessary part of the underlined word.

(41)9?3#@%@%%@%%}4%%?11?3@?%%1magmagﬁ?’ra‘rwmamw
TGS ST § '

HARVEST
A.Autumn B.Tractor
C.Stockpile D.Crop

(42) Question has an underlined word followed by four answer choices. You will choose the word that is a
necessary part of the underlined word.

(42)@3#@?@%2@%%1‘33:@3%11?3?{1%%?%!magaleagﬁﬁsﬁwmamw
39YTFH AT &

DESERT
A.Cactus B.Oasis
C.Arid D.Flat

11



y ; the word that is a
(43) Question has an underlined word followed by four answer choices. You will choose
necessary part of the underlined word.

(43) ot F TF WW@iTFa ee; ¥ TNGE alg UK Sea¥ [AFed & M 9F e Iod Al (Wi AsE H
AT H AT & :

BOOK
A.Fiction B.Learning
C.Pages D.Pictures

(44)Select a suitable figure from the four alternatives that would complete the figure matrix.

(44)mﬁmﬁ#wm3ﬁ§%wmaﬁsﬁmﬁﬁwﬁwaﬁl

Aﬁr

?

AHIXIX

1)y (2 @) @
Al B.2

C3 D.4

(45) Select a suitable figure from the four alternatives that would complete the figure matrix.

(45) OX fawedt 7 & v IUGF Il A TS B S I AT = g wy)

o [Qoo |Lxooo

& |OCo (G

b [Oo| ?

| Ceoaj & o | @n

L 2 () @
Al B.2

c3 D.4

12



(46) If A is the brother of B; B is the sister of C; and C is the father of D, how D is related to A?.

(46) I A, BHRT HS &, B, CHT @g7 & 31X C, D &1 Mar &, D, A ¥ %9 gafg &2

‘ A.Brother/ ﬂ’l‘é’ B_Sister/ CRGE

C.Nephew/ $TcilSTT D.Uncle/ dT=IT
: (47 Pointing to a photograph. Chendru said, "He is the son of the only daughter of the father of my

brother." How Chendru is related to the man in the photograph?
| (47) T FET AT IR SAURT G §UI FeF & Fgl, "9¢ A H/E & Aar i shelldr & @1 9 71" R A
dew 39 afdd ¥ R 9eR "t g2

'A. Uncle/ 9TIT B. Brother / &g

. C. Sister/ @g«1 D.Maternal Uncle/ ATAT

'(48)Find the correctly spelt word.

(48) HeT Tisll dTel Qs T TAT NT|

'A.Ocassion B.Occassion

C.Occasion D.Ocasen

(49)Find the correctly spelt word.

(49)H‘€Taﬁ?ﬁaﬁal?damqmmrél

V\.Furnituer B.Exampel

C.Medicine D.Sampal

50)Find the correctly spelt word.

50) HEY adel aTel Usg FT T WINT|
.Parallel B.Perelal

.Parelel D.Parellel

13
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9821—2589 H ATRIMA® TR S BN |
(A) 7140
(C) 7032

30 OIS B U & @Y HoTgd 9000
T B | IR UAD AN B e H
fpa wug amg?

(A) 200

(C) 300

(53) TP THMER 7 1000 . ¥ TH 4@l
weT &R 1575 ®. # 991 |1 S99 fhae
ST T BT g8 P

(A)500 <. BT &R (Profit)

(C)s75 =. @t BT (Loss)

i 17 AT TARR &1 4 153 ®9
® dr 3 5 eAex @1 qou feaw
BRTT?

(A)153

(C) 20

(56) 18, 36, 54 HEH WHIIG D ST X |

(A)72
(C)s4
(57) & BIfoig—21 +21
3 7
(A)3
C)10

(Find the actual difference in 9821—2589)
B) 7232
(D) 7132
is 9000 rupees, then

(One day wage of 30 labours
find out how much rupees Wi
by each labour.)

(B)100
(D) s0

(A shopkeeper bought a fan by 1000 and sold it
for Rs 1575, what was his profit or loss?)

11 come in the share

(B)s00 %. @1 &I+ (Loss)
(D)575 . @I <A™ (Profit)

(If the cost of 17 kg tomatoes is Rs. 153, then
what will be the cost of 3 kg tomatoes?)

(Find HCF of 18, 36, 54)

(B) 38
(D) 18

(Solve —21 +21)

37
(B) 1

(D) 7

14




58)

59)

60)

61)

62)

HIE 9A130— 99.9 + 55,05

e
S, =

(A) WE—T DIV acute angle

(C) ¥¥®IT Right angle

2 fhaer # foas diex 2?
(A) 200

C) 20

750 UM = ... fam.?

(A) 7.50 fHaT kg
(C) 0.750 f3m kg

(Solve :- 15+ 1)
4

(B)eo
(D)10

(Find the value of 99.9 + 55.05)

(B) 162.68
(D) 140.32

(If the cost of one pen is Rs. 8.50 then how much
it will cost to buy 10 such pens.)

B) 5
(D) 80

(Exact 90° degree angle in called?)

(B) 3P BT obtuse aﬁgle

(D) 9ot ®1T Complete angle

2 km in equal to how many metre?
(B) 2000

(D) 2

(750 gm = kg?)

(B)70.5 & kg
(D)75.0 T3, kg

15



9.50 ang
toes fOI' RS
Chitra bought toma t how much tq
(64) fRram m ¥ 950 T EZ;ZF %Zrﬂr—\’ ga dyfinger for Rs.17.75, find ou

17.75 RS

A g ot o o2 total money did chitra spend?)
(A)oze.so (B) 10.80
(C) 2025 (D) 2725
(65) 2 et ¥ forry 2 Si? ~ (How many hours are there in 2 days?)
(A)10 B) 24
(C) 48 (D) 14
< I f each side of the square is 8m, |
T o ™ O A (s ofach e of e s
(A) & (B) 24
€) 16 D) 32
67) s TE TR B fee 1 (25 paisa is how many parts of a rupee.)
(A) 1 B) 4
©) 2 D) 3
(68) (321x9) - ............. = 2888 (321x9) - . = 2888
(A) 1 B) o
€) 2 D) 3
(69) (33x3) + G 3)= e, (33x3) + (3_3) = gl ol
(A)os B) 100 .
(C)ag D) 33
(70) v Ve qamy | (Find odd no ) L
(A) 33 , (B) 34
(C) 38 D) 36

16



(71) 8 3R 10 &1 TYH FAAGTH?
(A) 8

(73) 7 @R 1% ogeps a7 garzu |
(A) 07 /64

() +1000 = 7.531 ?

’5) IS IORT N 60 F 30 3@ W B |
SN fram wfdera wra gg?
(A) 75 %

€ 35%

(Find LCM of 8,10 ?)
(B) 10

(D) 40

1X5 = e ?
5

B) 1
(D) 10

(Find the sum for the reciprocal of 7 and 1 )
9

(B) 6 /67
(D) 64 /7

................... +1000 =7.531 ?

(Anju got 30 marks out of 60 in the maths exam,

what percentage did she get?)

B) 50 %
(D) 65 %

17
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Read the passage and answer the following question(Q.NO.76-80):-

20th century. He died aimg,

Sardar Patel is known as the Iron Man of India and he was a great leader in the  that when his follo,

years after the death of Mahatma Gandhi.He was so emotional and kind-hearted perso
were concerned, he also looked very disappointed.

cause he had a very sharp n

Sardar Patel was the man who had no problem organizing the affairs be He was the Home Minister of |,

Additionally, he was very skilled to select the right person for the right posts.
when India-Pakistan War took place in 1947.He died on 15 December 1950.

Questions —
76. Sardar Patel is known as

(A) A great leader. ( B ) Prime Minister of India.

(C) The Iron Man of India.  ( D) An old man. |

77. He had a quality that was

( A)) Encouraging the people. ( B ) Selecting the right person for the right posts.
( C) Loving the birds. ( D) Doing great work.

78. When did he die?

(A) 14 Dec 1949 (B) 15 Dec 1946

(C )15 Dec 1950 (D) 15 Jan 1950

79. He was very disappointed when

(A)His family faced difficulties. ( B ) He was alone.

( C) His father was ill. ( D) His followers were concerned,
80. He was
(A)A kind-hearted man. ( B ) An angry man.

( C) 56 years old. ( D) None of the above.

18
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3 81. Insert PREPOSITION in the following sentence:-

E
E She comes to school bicycle.

.

(A) by (B ) with.
( C)on. (D)in.
*82

b

L Direction: Select the correct article and fill in the blanks.

I need blue pen.
( A)an (B)a
( C ) the. (D) all of the options.

33. What is the synonym for word “BRILLIANT”:-

‘A ) bold (B ) brave.

.C ) Splendid (D) sly

4.
Direction: Choose the most probable conjunction among the given choices to Jjoin two sentences A
and B in
A. T honour him. B. He is a brave man.

A ) and (B ) because.

C ) Neither,nor (D) but.

5. What is the type of following sentence:-

as! | could not win the competition.
A) Assertive ( B ) negative

C) |nterrogative ( D ) Exciamatory

19
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ﬁﬁ?ﬁlwaﬁmgmﬂwﬁmmmmﬁé?quﬁmmﬁm
S & AU AR QY Ul woam sh daw an, ARk 39 o oW B FACH o 7
T A G I W F o o & R A s d9 3T a8 3 5 i
ﬁmm,%ﬂﬁmﬁﬁﬁwmwﬁmwrﬁl?ﬁﬁmﬁ;mmm;
Al ATl A & FROT TR # A A o @ A ga g T 3 s
Wﬁﬁ%ﬁﬂﬁﬂﬁ%a%ﬁqﬁﬁTmewfﬂWW;ﬁm
Wﬁgﬁfﬂﬁﬁ@rwwa@maﬁwm;ﬁﬁﬁmmmw '

T BT Al A 7 TSI I AT W & e S A

- 86. et o ey P & %
(A) @ && o wgor ( B) wganm s g

(C)wrew (D) wwwgar

87. & gt TTone 3 W oY wrorea o 3
(A)zet & (B )=gear

(C ) @it @r (D) wsft @

88. dToTe YW AT WS 3
(A ) ag orsif ot (B ) vga o o

(C)ﬂﬁff‘o'ﬂf;f’r (D) suefa # & 91 ot

89. &Y o Tgr & JuTer aY T ¥, uT 2 ,
( A) g aTqelt §a 3 FIRor e 3 9T TEr FRaT (B)qwmaﬁ%wmﬁmaﬁm

(C ) aor oz & & Prevr T F a1 aTE Hear (D) Wmﬁﬁ*mwaﬁm

90. 3usr T Ue eae Geerst AR o FAT IF ¥ %
(A ) s1aaT gierer ead mear ( B ) smuei wrersr wear

(C)mm'mm (D) e seerst oy

20
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92. “gofar ¥ fUdaT oz warddy
(A)ger (B )wew
(C)amr (D) smwoner
93. avf & fFad fe Ay ¥3
(A)=r (B )
(C)ar (D) =

94, Sy TT SgTTeT SATEY 3
(A )t (B ) wragait

(C)wa (D) =g

95. “uf orff g | aTwer @ 9T TATEY
(A ) wzoraras (B ) frrenfedras
(C) smms (D) fdaras
96. “go* T B Igorgt yfaardy s ¥ 2
(A)wirs (B )i

(C)awo (D) wrow

21



97w T Y §
(A)wrg  (B)smyor

(C)wem (D) ug

98. “37 wraT “ & o el d = gur ¥ %
('A)W (B)wwae

(C)smae (D) woae

99. Frer FATGT TEH ¥ 2
(A) seaundadiar (B ) Bidwmafar

(C)wmraficdt (D) graRar-carce

100. 3§ & e & & S udmarr I Brflerordt & Tar FEd € ¢
(A)wat (B)er

(C )uudt (D) ek

22
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